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Properties of Exponents : Simplify the expression and write without negative exponents. 
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Fractional Exponents : Simplify the expression and write without negative or fractional exponents. 
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Write each of the following logarithmic equations in exponential form. 

28. 3log 243 5    29. logaN x     30. log 1 0  

 

 

Find the value of each of the following logarithms. It may help to write in exponential form first. 
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Using the properties of logarithms, please evaluate each expression. 
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Write each of the following natural logarithmic equations in exponential form. 

40. ln1 0     41. ln 1e      42. ln 7.3891 2  

 

 



Using the properties of natural logarithms, please evaluate each expression. 
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Use the properties of logarithms to condense the following logarithmic expressions. 
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